








Which number will replace the question mark ?

(A) 11 (B) 9
(C) 12 (D) 10

4 9 20

10 8 21

6 4 ?



Find the missing one  (?)

Pitch : Cricket :: Arena : ?
पिच: पिकेट :: एरिना:? 

(A) Tennis  / टेपनस
(B) Bedminton/ बेडप िंटन
(C) Gymnastic / पि नास्टिक
(D) Wrestling / कुश्ती



Find the option which should replace (?)

Cell phone : Communication :: Cycle : ?

सेल फोन: सिंचाि :: साइपकल:?

(A) Walking / चलना

(B) Gym / पि 

(C) Mechanization /  शीनीकिण

(D) Transportation / िरिवहन



From the given alternative words, select the word which can not  be formed using the 
letters of the give word :
पिए गए वैकस्टिकशब्ोिं से, उसशब्का चयनकिें पिसे शब् केअक्षिो िंका उियोग किके

नही िंबनाया िा सकता है:

SEPARATED

(A) RAT
(B) REPEAT

(C) SEAT

(D) PRIVATE 



Two positions of dice are shown. What will appear on the 

opposite to the face containing 3?
िासा की िो स्टथिपतयािं पिखाई गई है तो ज्ञात कीपिएकी 3 के पवििीत सतह

ििक्या होगा? 
(A) 3 (B) 2
(C) 1 (D) 4

4
3

6

1

3

5



Find the option which should replace (?)

Black Flag : Protect  :: Brown Flag : ?

काला झिंडा: िक्षा :: भूिा झिंडा:? 

(A) Ambulance / एमु्बलेंस

(B) Surrender / आत्मस िपण

(C) Revolution / िािंपत

(D) National Sorrow / िाष्ट्र ीय िु: ख



Find the missing one  (?)

DF : 42 : : IB : ?

(A) 18    
(B) 81
(C) 24
(D) 42



Which of the following diagrams indicates the best 
relation between Ink , Pen and Book ?
इिंक, िेनऔि बुक?

A. B .C .D.



Find the number of triangles in the given figure

A. 7
B. 18
C. 16
D. 14



Find the option which should replace (?)

Siamese : Cat :: ? : ?

(A) Type : Breed / प्रकाि: नस्ल

(B) Dog : Puppy / कुत्ता: पिल्ला

(C) Mark : Spot /  ाकप : स्पॉट

(D) Romaine : lettuce / िो ैन :सलाि



Find odd word from the given alternative.
दिए गए दिकल्पमें से दिषम शब्द ज्ञात कीदिए |

a) 32,4,8

b) 22,4,5

c) 54,4,13

d) 38,4,9



Which of the following diagrams indicates the best
relation between Indians , Women and Advocate

भाितीय, पहलाऔिअपिवक्ता?

A.

C. D.

B.



There are 8 members in a friends group who greet each other on a 
Diwali day by sending cards . How many cards will be use for this 
purpose by this group ?
एक प त्र स ूह  ें 8 सिस्य हैं िो एक-िूसिे को पिवाली के पिन काडप
भेिकि बिाई िेते हैं। इस स ूह द्वािा इस उदे्दश्य के पलए पकतने काडप का
उियोग पकया िाएगा? 

(A) 50    
(B) 64
(C) 56
(D) 60



Find the option which should replace (?)

7 : 56  :: ? : ?

(A) 3:12

(B) 11:121 

(C) 6:24 
(D) 8:62



Find number of square in the given figure ?
पिए गए आिंकडे  ें वगप की सिंख्या ज्ञात कीपिए

(A) 34

(B) 29

(C) 31         

(D) cnd



Find minimum number of straight lines in figure?

(A) 13 (B) 15

(C) 17 (D) 19



In a row A is 12th from left and B is 16th from right and there

are 11 members between A & B then what is total no?
एक ििंस्टक्त  ें A बाईिं ओि से 12 वें थिान िि हैऔि B िाये ओि से 16 वें थिान
िि हैऔि Aऔि B के बीच 11सिस्यहैं तो कुल सिंख्याक्या है?
(1) 39

(2) 25

(3) 20

(4) Either 39 or 15

(5) None of these



If today is Sunday then which day would be the 65th day after 
today ?
अगि आि िपववाि है तो आि के 65 वें पिन कौन सा पिन
होगा? 

(A) Monday     
(B) Tuesday
(C) Wednesday  
(D) Sunday 



Ratio of present age of P and Q is 9 : 4 . The difference between their 
ages is 20 years . What will be the sum ( in years ) of their ages after 10 
years ?
P औि Q की वतप ान आयु का अनुिात 9: 4 है। उनकी उम्र  ें 20 साल का

अिंति है। 10 वर्प के बाि उनकी आयु का योग (वर्ों  ें) क्या होगा?

(A) 62 

(B) 66 

(C) 72

(D) 76  



Which number will replace the question mark ?

(A) 10 (B) 6
(C) 11 (D) 7

18 20 8

16 22 9

20 18 ?



Find the odd one (?)

(A) Red – Color / लाल - रंग
(B) Air – Cooler / िायु - कूलर
(C) Wheat – Grain / गेहं - अनाि
(D) Copper – Metal / तांबा - धातु


